EEATE - B+ RKRCER >

BHE

(9] Eidl MR | RELE
BZS01 N . S45C s
Bzsos | SRBBEEE groit
BZS02 oy | S45C T
Bzs0s | SRHREITBRRER 15 00— — M_
[0 BZS01/03& B SRR REE AR K ERE. -
() BZS02/04% B SRR IR ER.
O BFHELERMALsmm— M ERE, BEENE,
R EFIRENZE-2~0mmi A EEEE.,
O 1 TEEAT LU M EIR B R BB ERT,
ERIRREIRERRT )N, SEURKER S -
Sttt R AR,
O HREFFRE 2 mmy— B, TTREES SGIID)
EREIKE, FEIREWKER, ENE
ToREANE, BINSBIRIGE.
L B
! T
) =
MeEinE: $—0/A
BE BRAEE SEEE
e R D MxIZEE L S Vi \% H {Kg) (Kg/pos)
50850 50 0.22
50875 M8x1.25 75 14 6.5 6 800 0.24
508100 100 0.26
501050 50 0.25
501075 50 | M10x1.5 75 17 8 7 1000 0.265
5010100 100 0.28
N 501275 75 0.27
ﬁﬁﬁﬂsﬁ‘ﬁ@I 5012100 100 20 0.28
5012125 M12x1.75 125 19 10 8 1200 0.29
6012100 100 0.47
6012125 125 0.49
6014150 g0 | M14x2 150 2 1 9 0.51
6016100 100 1400 0.47
6016125 M16x2 125 24 13 10 0.5
6016150 150 0.51
8012100 100 0.83
5012150 M12x1.75 150 19 10 8 1200 e
8014150 M14x2 150 22 1 9 1400 0.85
8016100 100 0.87
5016150 80 | M16x2 150 24 13 10 1600 ——
8020100 100 1.1
ﬁﬁ’ﬁﬂsﬁﬁﬁé 8020125 M20x2.5 125 30 16 13 2000 115
57503 8020150 150 1.2
10016100 100 20 1.26
10016125 M16x2 125 24 13 10 1800 1.27
ﬁ@%ﬁ?gﬁw 10016150 150 1.32
i - 122 -
10020150 100 | M20x2.5 150 30 16 13 2000 T
10020200 200 1.49
10024125 125 1.55
10024150 M24x3 150 36 19 16 2200 1.58
10024200 200 1.68

@ mTi% IJDI( P1659)

G : @iz B
@ _ R T W!ﬁ AT ¥ — IEI 0o st

aZso - s WL BS... 3 & [100% | BITHRM
BEETTR  Bzs01—501275 BZS01— 501275 — WS FBUNGE)




HE

< diELT

¢

AT

R AR R@ BoRGR
BRI TINGR ws WAFEN TR NS
. ns e 0 ng e3
A,ig, g |10 21, 10
ws ‘Eﬂzzg €$%> 6 [ 10 [12 A\ é@%/ 6 81
e 20z 133 N
30 | 18 [22 30 20
BERRNTINAR EEAE| WL BIEFRBNTAAR EEAE N
M n1 e1 na | ea
0 6 0 4 5
2 8 2 6
w | EX = w ® ok
e ] s < a AR
0 0 21 0 16
BHARNTRFEE | [EE5E) s IR SR
n ee [ e NS RS @F&'ﬁ!‘?ﬁﬂﬂ% TL/GIEHFE*DE
| . RS IR AR (R St
_ 2 LTIR RS
BS 6 €3 il g | 12 Q\\‘_%—/?\\\ B O SR R AT —Rs,
eeler]  |ne] S EAmE O TERTREHD. RERETHS
24120 [ [ 45 FRBEAORIAR,
30 | 26
O ARERIMEFR IV I SRR,

INIERAH

@] IET*E)ETH?]DI%&J&??&F AIERAFORFE.

wRF. ARBRFS.

EIRF. WA




	页 5
	可选加工（有铆死）
	页 1
	页 2




